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Introduction

Aggregate storage application doesn’t support member formulas. You will have to face
some errors while you convert block storage database into aggregate storage database. In
this document we have shown some examples of BSO outline formulas and their equivalent
MDX script. MDX supports in both block storage and aggregate storage. So if you want to
use those formulas you have to convert all member formula in to MDX script.

In the below diagram we have taken some financial ratio calculation formula. We'll
convert this BSO outline to ASO outline.

Adding member formula in BSO out line:-

Right Click on member = “Edit member properties”

&Outline Editor: [bispebs.Conv.MData]

Outline | Properties  Text List Manager = Modifications

=l Qutline: MData (Active Alias Table: Default)
+| Year Time <2> (Active Dynamic Time Series Member
=| Measures Accounts < 10= {Label Only)
-] FR {+) <5=
-| FR_Ratio (+) =3=
FRL1001 (+)
FR100Z {+)
FR1003 {+)
| Achivity (+3 =7
+| Lewverage (+) =
+| Prafitahility (47

Edit member properties..,

Generations...

Levels...

Dynamic time series..,

Select formula tab you will get a scripting wizard, you can write script and verify. You also
can use functions in script.
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8. Member Properties =|
Member({s): FR1001
Information | Attributes | Associations | UDAs | Formula |
Script
1 Use aliases
Alias table
-
+l rear
| Measures
| Praoduct
1 Market
| Scenario L
| Caffeinated
+l Cunces
+l Pla Tun -
[ Insert arguments
[+ Enable auto-completion
Categorical | Alphabetical
= [t nd functions [
+| conditionals —
"
- Boclean 1:52 - 1/1 - 100% Madified
+| Relationship Functions -
] i =

Once you verified the script is correct you can save it.

§¥,Member Properties |

Member{s): FR1001

Information  Attributes  Associations  UDAs | Formula

Script

[ Use aliases N
"Total Current Assets"/"Total Current Liabilities";

lias table

" Member Formula x|

‘rear { -
Measures @ Formula werified successfully. Mo syntax errors detected.

Product

Market

Scenario |
Caffeinated

dunces

Pla Tune

EprgET Ty O [

| Insert arguments
[¥l Enable auto-completion

Categorical | Alphabetical

+| Conditionals

*+| Boolean

1:52 - 1/1 - 100% Modified

+| Relationship Functions -
] | »

We are going to convert the below BSO outline formulas. There are some examples of
member formulas in cube below outline.
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@Outline Editor: [bispebs.Conv.MData]

Text List Manager Madifications

Alias Table: Default) -
ctive Dynamic Time Series Members: H-T-D, Q-T-D) (Dynamic Calc)
| Measures Accounts =10= {Label Only)
=l FR (+) <5=
~| FR_Ratio {+) 3=
FR1001 (+) (Alias: Current Ratiol [Formula: "Total Current Assets"/"Total Current Liabilities";] _J
FR100Z {+) {alias: Quick Ratio) [Formula: " Total Current Assets"-"Inventory” )/ Total Current Liabilities";]
FR1003 (+) {alias: Cash Ratio) [Formula: "FP1011""Total Current Liabilities";]
=| Activity (4] <7 =
Fa1001 {+) {alias: Total Asset Turnover) [Formula: "Sales"/Total Current Assets";]
FA1002 (+) (Alias: Fixed Asset Turnover) [Formula: "Sales"/"FP1012";]
FAL003 (+) (Alias: Capital Turnover) [Formula: "Sales"/{"FE1001"+"FE1002");]
Fal1004 (+) {alias: Accts Rec Turnover) [Formula: "Sales"/"FE1003";]
FA1005 (+) {alias: Accts Rec Days Outstanding)
FAL006 (+) (Alias: Inventory Turnover) [Formula: "Sales"/Inventory";]
FA1007 (+) (alias: Inventory Days Cutstanding)
~| Leverage (+) <=
FL1001 {+) {Alias: Debt to Equity) [Formula: "Total Current Liabilities"/"FE1002";]
FL100Z {+) (Alias: Financial Leverage) [Formula: "Total Current Assets"/"FE1002";]
FL1003 {+) (Alias: Capitalization Ratia)
FL100O4 {+) {Alias: Interest Coverage) [Formula: ("MT1001"+"BE1001")/"BE1001";]
+| Profitability {+) =12= -

|

Conversion of Block Storage Database in to Aggregate Storage Database

Now to Convert block storage application in to aggregate storage database

Go to file > Wizards = Aggregate Storage Outline Conversion

sshase Administration Services 11.1.1.3 - admin connd

Outline  Organize  Actions Tools

O new... B
bn Servers
L open.. vers
Close Eations
H Save
BOBas
Save as.. C
Eocub
Page setup... SOIDIER
EOsamp
Print preview Fub
AS0
[9 Print sp
Data Mining
Migration

Editars 4

_Send to...

Exit

fggregate Storage Outline Cony

Aggregate Storage Partition

User Setup

e =

Select the block storage outline as a source, which you want to convert into aggregate
storage.
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- gregate Storage Outline Conversion Wizard

This wizard helps vou canvert block
storage outlines to aggregate storage
outlines,

|:| Select source block storage
outline,

[ erify corvactions necessary for
aggregate storage,

|:| Specify destination for
converted outline,

Select Source Outline

Select a block storage cutline to convertto aggregate storage, When you click Mewt, the wizard examines the source outline
and returns a list of corrections to be made so thatthe outline passes verification for aggregate storage, The source outline

is not changed as part of this process.

File System | Essbase Server

Look in: |O MData

[ MData,otl
Path: bispebs:Conv:MData
File name: |MData

Files of type: |Outline file (*.otl)

Select target destination aggregate storage outline.

‘,Aggregate Storage Outline Conversion Wizard

This wizard helps vou convert block
storage outlines to aggregate storage
autlines,

Select zource block storage
outline,

Werify corrections necessary for
aggregate storage,

[] specify destination far
converted outline,

Select Destination for Aggregate Storage Qutline

Browse tothe location whare vou wantto save the new aggregate storage outline, You can save to the file system or to an
existing aggregate storage application an Essbase Server, To create a new aggregate storage application to contain the
outline, click Create Aggregate Storage Application,

File System | Essbase Server

Look in: |O Data

'&- Data.otl

Path: bispebs:aConyv:Data

File name:  |Data

Files of type: |Out|ine files (*.ath

Click Next
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‘ Aggregate Storage Outline Conversion Wizard

Thiz wizard helps you convert block
storage outlines to aggregate storage

autlines,

Select zource block starage

outline,

Verify corrections necessary for

aggreqgate storage,

Specify destination for
converted outline,

Qutline Conversion Completed

The new aggregate storage outline has been saved to the specified location.

Select this checlk box to convert another block storage outline
[[J Convert another block storage outline

While converting BSO outline to ASO outline, we do not get any error message about the
outline formula syntax error. Once the BSO outline converted to ASO outline, we need to
check each formula and change its syntax based on MDX script.

& Oracle® Esshase Administration Ser

CQutline  Organize

connected on bispebs

Oracle® Essbase Administrati

~| E Enterprise Yiew
X ﬁf administration Servers
= 4 Essbase Servers
= d bispebs
~I 2] Applications
~| [E] ACony
= Q, Data
= cutline |
+ B Partitions
| €] 450
| [E], ASORas
| [E] Asocub
-+ [El ASODEM
&a lﬂ ASOsamp
+ [l Boub
] BIASO
\ﬂ Bisp
L BispBK
[l BispPR
] BispsT
] BoCC
\f\!, cony
1 cub
) cuse
) curr
\ﬂ Dema
\ﬂ DMDemo
L ebs
lﬂ Fin

(=) PEFTUN

(2 S 3 O 2 N A S o N SN

autline

Properties  Query Hints  Text List Manager  Modifications

=| outline: Data {Active Alias Table: Default)
| vear Time Stored # Default # <2=
-| Measures Accounts Dynamic Compression <10 (Label Only)
—| FR (+) <5>
~| FR_Ratio (+) <3=
01§ e Lia
Guick Ratin)
FR1003 {+) { alias: Cash Ratin) [0: "FP1011"/"Total Current Liahiliti
| Activity (+) =7 =
FAL1001 i+) {Alias: Total Asset Turnower) [0: "Sales"/"Total Current Assets";]
FA1002Z i+) {alias: Fixed Asset Turnawver) [0: "S. "
FA1003 {+) {Alias: Capital Turnover) [0: "Sales"
L FA1004 (+) (Alias: Accts Rec Turnover) [0: "Sales""FE1003";]
FAL005 i+) {alias: Accts Rec Days Qutstanding)
FA1006 {+) {alias: Inventary Turnover) [0: "Sales"/"Inventory”;]
FAL007 {+) {alias: Inventory Days Outstanding)
= Leverage (+] <d=
FL1001 (+) {Alias: Debt to Equity) [0: "Total Current Lishilities"/"FE1002";]
FL100Z (+) (&lias: Financial Lewerage) [0: "Total Current Assets”/"FE1002";]
FL1003 (+) (Alias: Capitalization Ratia)
FL1004 (+) (Alias: Interest Coverage) [0: ("MT1001"+"BEL00L")/"BELOOL";]
+ Profitability (+) <12~

Frternrica Wiaw | BB | ananana

RE Mudine

et d

When you verify this member formula you will get an error message, shown below.
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¥.Member Properties |

Member{s): FR1001

Information | Attributes | Associations | UDAs | Formula

[ Use aliases

Alias table
- v

ACony.Data - ‘

Measures Member Formula |

Product
Market
Scenario

+ |+ [+ [+

0 There is a syntax error in the current formula. See the message panel for details.

(| Enable auto-cai

MD= Functions

Categorical | Alphabetical

MO< Functions -
+| Members

Sets
String
Tuples
Numbers
Dates
Dimensions
Layers
Booleans A

+ [+ |+ [+ [+ [+ |+ [+

1:52 - 1/1 - 100% Modified

Gk Cancel

Now if you want to execute all these formula in aggregate storage, you have to convert all
these member formula in to member formula as per aggregate storage.

Convert block storage member formula into aggregate storage member
formula:-

There are some syntax difference in block storage and aggregate storage. Like In
aggregate storage codes (“”) are replace by square brackets [ ] no semicolon (;) required.
You have to write complete formula as per aggregate storage syntax.

Formula1l:-
Block storage member formula

Current Ratio = "Total Current Assets"”/"Total Current Liabilities";

«wn

You can just replace codes (“”) by square brackets [ ] and remove semicolon.
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‘. Member Properties

Member{s): FR1001

Information | Attributes  Associations  UDAs | Formula

[ use aliases

[Tatal Current Assets]/[Total Current Liabilities]

Alias table

* Year

* Measures
=+ Product
* Market
*l Scenario

- Member Formula x|
| 4oy Data | | G
Formula verified successfully. No syntax errors detected.

[

] Enable auto-completion

MD% Functions

Categorical | Alphabetical

MO Functions
I Members
* Sets

| String

| Tuples

1 Numbers
| Dates

| Dimensions
| Layers

| Booleans

51:51 - 1/1 - 100%

Modified

You can see that formula is now converted in to aggregate storage member formula.

Current Ratio = [Total Current Assets] / [Total Current Liabilities]

Formula2:-

You cansee that the validation failed for other block storage member formula now convert

this member formula in to aggregate storage formula.

§¥.Member Properties

Member(s): [FR1002Z

Information  Attributes  Associstions  UDAs  Formula

[O Use aliases

Alias table

=+ Year
+l Measures
I Product

- Market
-~ Seenario 2

[J Enable auto-completion

MDX Functions

Categorical | Alphabetical
MDD Functions -
I Members

+ Sets

+| String

I Tuples

1 Mumbers
| Dates

| Dimensions
| Layers

+| Booleans -

¢ - % |

Member Formula

o There is a syntax error in the current farmula. See the message panel for detals.

2

65:65 - 1/1 - 100%

Modified|

I N T
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Validation is done successfully done for converted aggregate member formula.

. Member Properties ﬂ
Member{s): FR1O0Z

Information  Attributes  Associations | UDAs | Formula

{[Total Current Assets]-[Inventory])/[Total Current Liabilities]
[C] Use aliases

Alias table

[ ¥

Member Formula x|
m@a = -

+ ( §
£3; S @ Formula werified successfully. Mo syntax errors detected.
| Measures

1 Product
1 Market
*+| Scenario =2

[_] Enable auto-completion

MD* Functions

Categorical |~ Alphabetical
MD¥ Functions o
Members

Sets

String

Tuples

Mumbers

Drates

Dimensions

Lavers fone
Booleans -

e e E P e

37:65 - 171 - 100%

Modified

Expand

Formula3:-
Converted aggregate member formula for Gross Margin

Gross Margin = ([Pre Tax Income]/ [Sales])*(([Pre Tax Income]-[Tax])/ [Pre Tax
Income])

‘.MEITIIJEI‘ Properties 5I
Member{s): FP1003

Information Attributes Associations UDAs Formula

([Pre Tax Incomel/[Sales])*(([Pre Tax Income]-[Tax])/[Pre Tax Income])
[ use aliases

Alias table
| -
Member Formula =]
- -
— k
1 rear @ Formula werified successfully. No syntax errors detected.
*+| Measures -

[C] Enable auto-completion

MDX Functions

Categarical alphabetical
MD < Functions =
Members
Sets
String
Tuples
Mumbers S
Cates

4 | >
D —
IS | [1:71 - 141 - 100% Madified

Flltl sl

This way you also convert all BSO member formulas in to ASO member formula.
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Validation of Formula
Connect your block storage cube with Essbase Client and see the Q1 data. You can see
Current Ratio, Quick Ratio and Cash Ratio data value for Q1.

41

IIKE"; [ R
o |

Home Insert Page Layout Formulas Data

fl Activate = Zcu:-m In [ Keep Only =7 Select Form
||

| "'l bispebs_Conv_MData ||lemmre Only 2 Instructions

Connect — ~
=.f Pivot =a Take Offline
Connections Ad hoc Analysis
110 - (> fe |
A B C D E
1 atrl
2 |Actual 100-10 Mew York CurrentRatio | 530.715
3 Quick Ratio 250.470
a4 Cash Ratio 289.633

Same data vale has retrieve when aggregate storage database is connected with the sheet.

41

aid

Ilf'_“ =, R
" fad

Home Insert Page Layout Formulas Data

Activate = Zcu:um In [} Keep Only =z| Select Form
u_m

| W |bi5pebg_gcgnu_[:ata| |Remm.re Only 2 Instructions

Connect — _
=t Pivot =a Take Offline
Connecdtions Ad hoc Analysis
110 . £ |
A B C D E
1 Qtrl
2 |Actual 100-10 MNew York | Current Ratio | 530.715
3 Quick Ratio 230.476
4 Cash Ratio 289.633
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Converted Aggregate Storage Outline

Below screenshot is Converted Aggregate Storage outline with relevant aggregate member
formula.

E:.- Outline Editar: [bispebs ACanv.Data]

Cutline  Properties  Query Hints  Text List Manager | Modifications

= Qutline: Data (Active Alias Table: Default)
+| vear Time Stored # Default # <Z=
—| Measures Accounts Dynamic Compression <10= {Label Only)
-l FR {+) <5=
—| FR_Ratio (+) <3=
FR1001 (+) (Alas: Current Ratio) [0: [Total Current Assets]/[Total Current Liabilities]]
FR100Z (+) (Alias: Quick Ratio) [0: {[Total Current Assets]-[Inventory 3/ [Total Current Liabilities]]
FR1003 (+) (Alas: Cash Ratio) [0: [FP1011]/[Tatal Current Liahilities]]
= dctivity [+ <7
FA1001 (+) (Alas; Total Asset Turnaver) [0: [Sales]/[Total Current Assets]]
FA100Z (+) (Alias: Fixed Asset Turnover) [0: [Sales]/[FPLO1Z]]
FA1003 (+) (Ahas: Capital Turnaover) [0: [Sales)A([FELO001]+[FEL1O0Z2]}]
FA1004 (+) {Alias: Accts Rec Turnover) [0: [Sales]/[FEL003]]
FA1005 (+) (Alias: Accts Rec Days Qutstanding)
FAL1006 (+) {Ahas: Inventory Turnowver) [0: [Sales]/[Inventory]]
Fa1007 (+) (Alias: Inventory Days Outstanding)
~| Leverage (+) =d=
FL1001 (+) {alias: Debt to Equity) [0: [Total Current Liabilities]/A[FELO0Z]]
FL100Z {+) (alias: Financial Leverage) [0: [Total Current Assets]/[FE1002]]
FL1003 (+) (alias: Capitalization Ratio)
FL1004 (+) (alias: Interest Coverage) [0: ([MT1001]+[BE1001])/[BE1OOL]]
~| Profitability (+3 <12=
FP1001 (+) (Alias: Met Margin) [0: [Met Income]/[Sales]]
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Formula List

List of converted Block storage member formula in to Aggregate storage member formula

SLNo|  Formula BS0 Member Formula | ASO Member Formula
Financial Ratio Formulas
1 |CurrentRatio "Total Current Assets”/"Total Current Liahilitias"; [Tatal Current Assets]/[Tatal Current Liafilities]
2 |QuickRatio {'Total Current Assets"-"Inventory')/"Total Current Liabilities"; ([Tatal Current Assets]-[Inventary])/[Total Current Liabilities]
3 |CashRatio "FRL011"/"Total Current Lihilities"; [FP1011]/[Tatal Current Lishilitias]
4 (Total AssetTurnover  |"Sales”/"Tatal Current Assets”: [Sales)/[Total Current Assets]
5 |Fixed Asset Turnover  |"Sales"/"FRI012" [Sales)/[FPLO1Z]
6 |Capital Turnover "Sales"/("FEL00L"+"FELO0"); [Sales]/([FE1001]+[FEL002])
7 |Accts Rec Turnaver "Sales" " FEL003": [Sales]/[FEL003]
8§  |lnventory Turnaver "Sales"[" Inventory"; [Sales]/[Inventary]
9 |DebttoEquity "Total Current Lishilities"/"FE1002" [Tatal Current Liahilities]/[FEL002]
10 |Financizl Leverage "Total Current Assets”["FEL002"; [Tatal Current Assets]/[FE1002]
11 |Interest Coverage ("MT1001"+"BE1001"){"BEL00L", {IMTL001]+{BEL001] ) /[BEL001]
12 |NetMargin "Net Income”/"Salas"; [Net Incomel/[Sales]
13 |Pre-Tax Margin "Pre Tax Income”/"Salas"; [Pra Tax Incomel/[Sales]
14 |Gross Margin ("Pre Tax Income"/"Sales")*({"Pre Tax Income'-"Tax")/"Pre Tax Income”); ~ |{[Pre Tax Income] /[Sales]) *(([Pre Tax Income]-[Tax]}/[Pra Tax Income]|
15 |ReturnonMetAssets  |"NetIncome'/("Total Currant Assets™-"BS1001"); [Net Income] /| Total Current Assets)-[3S1001])
16 |Return on Capital "Net Income"/("FEL001"+"FEL002'Y; [Net Income] /[ [FELO0L]+[FEL002))
Balance Formulas
17 |Average Asset "ALI01"+"AL102"+"A1103"; [AL101]+[AL102]+[A1103]
18 |Balancing Asset Average |"BAL00L"/{1-0.5%(["IR100L"/100)*" AFL001")*{1-{"NTL00L"/100)))-1; [BAL001]/1-0.5%({[IR1001)/100)*[AFL001])* (14 INTL001]/200)))-L
19 |Average Liability "AL201"+"A1202"+" AL203"; [A1201]+[{A1202]+[AL203]
0 |Average Equity "A1301"+"A1302"+"A1303"; [A1301]+[A1302]+[A1303]
2 |Balancing Lishility Averag|"BALOD1"/{1-(0.5%{"R1001"/100) *"AFL001") {1-{"NTL001"/100]) ); [BAL001]/{1-(0.5%(([IR1001]/100) *[AF100])*(1-{INT1001}/ 100
2 |Balancing Equity "PRL00L"H0.5*"FTI003"); [PRL0DLJ+{0.5¥(FT1003))
B (|Total Income "BT1001"+'BT1002"+"BT1003"+"BT1004"+'BTL005"; [BT1001]+[BT1002]+[BTL003]+|BT1004]+[BT1003]
U |Total Expenses "BE1001"+"BEL002"+"BE1003"+"BEL004", [BE1001]+[BE1002]+[BEL003]+[BEL004]
25 |StateTax "PBI00L"H("BAL005"-"BA1003")¥("ST1003" /100)); [PE1001]+|([BA1005]-[BAL003])*{|ST1003])/100))
26 |Funding {"BAL005"- "BAL003") * [1- {"NTLOOL" / 100)}; {[BAL0S]-[BA1003]) * {1 - [INTL001]/ 100))
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